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In what follows, EV prediction means that the answer xj predicted by EV was increased by 1, so as to avoid indifference and favor the risky option somewhat.

40 prospect pairs were devised.  The four TO answers predicted by PT 92 were each added three times, yielding 12 envelopes.  The four TO answers predicted by EV were each added 6 times, yielding 24 envelopes.  Then 2 envelopes contained the x0, x1 predicted by EV, and 1 the prediction by PT92 of x1 (the first questions are more likely to overlap experimental questions because 3 of the 4 values are fixed).
The last envelope contained one outcome exceeding 1000 (1050) for the most risky prospect.  There was another very high outcome (900) in that same envelope for the other prospect, so as to increase the overall average outcome and because it would not be chosen anyhow.  Given that the prospect with 1050 would be chosen anyhow, it could be added there to increase expectation safely so to say.  

I typed each prospect pair on a separate piece of paper, cut these, folded them (with text inside, so as not to be readable), and inserted each one randomly in a numbered envelope.  For each prospect pair I kept track in a stimuli file in which envelope it had been inserted.  In the stimuli file (now here below) I wrote all 160 outcomes occurring in a prospect in an envelope, and calculated their average (they were all equally likely so it could be unweighted sum and then average).  This file was printed for each subject, to be handed out to them at the end of the experiment, so they could verify all stimuli.

Now follows that file (cleaned up some, such as by ordering the envelopes by ordering).

Stimuli Used During Experiment

Here is a list of the content of the envelopes.  Please check that your envelope has the content as described here.  Note that envelope @18 contains a prize exceeding €1000, and one of €900.  Calculations of EV under random choice are given at the end.
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MAXIMAL OUTCOME: 1050; MINIMAL OUTCOME: 1.  AVERAGE OUTCOME: 30.80.
Calculation of average payment:
Sum of all 160 payments:
21 + 10    +    34 + 21    +    46 + 34    +    59 + 46    +
21 + 10    +    34 + 21    +    46 + 34    +    59 + 46    +
21 + 10    +    34 + 21    +    46 + 34    +    59 + 46    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
18 + 10    +    25 + 17    +    32 + 24    +    39 + 31    +
1050 + 900    +    21 + 10    +    18 + 10    +    18 + 10 +
40  1 + 40  8 = 
4386.

Average payment:
4386/160 =
27.41.



